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def Majar(n):
Mm=0
while nl=0:
m=m+ N0
n=n/10

fetvm m
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n= int (InPUt()
for 1 In rarge(1,N)s
i majar(d) £ 13 == 0
print (1)
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import  tyrtle
def ijfrcle'\()E
for 1 in W(BOO)R
turtle. forward(1)
turtle. [efH1)
retvrn
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import turtle
def myCircle2 (m)s
Fr 1 in vange(360)¢
turtle. fovward (n/ 360)
turtle. lef (1)
returh
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dep  tabdil (¢)2
P x==0: Vetun 0
if == feturn 1
if 2==10: return 2
if A==T: et 3
i #==100: retorn 4
i ==10" Yveturn 5
it %==110: letorn 6
if ==117: etorn 7

M2 = int (input()

mé =0

1=0

while w2 l= Ds
b-m2 71000

M8 = 8 + Habdil (b) % (10x#1)

m2 - w2 // 1000
i:’iﬁ-’\
print(m8)
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h=int(input ()
M=0
for 4 in Yange(10+%(n-1), 10441)s
t-0
for j in vange(1, A41)e
1 :\.'I.j== t

't.'. f'l"l
IF 't==2=
Mm=My1
print(tn)
import turtle [____:____l___T___}___T___F'_-?:
turtle._fd(50) I l : " l 1 o . !
| 4 . +"‘"“'I_"_4___;
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turtle. 1t(60) l : | | : ' ! :
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turtle._fd(50) b e : ’: __{__,_.1[
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turtle.rt(120) 1 | ; i : | !
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turtle.fd(50) " : : : I :
for i in range(5): :_ e ) “_-T—__:
]
turtle.1t(60) :_~ -..'.____1 L L
turtle.fd(50) : : : : : ! | |
| 1 ! |
turtle.rt(120) :___,__:_ -'-"Ir*“"":"'-"}"""“:"“'""'"':
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] |
turtle.fd(50) :.___.'_.___..__1._.__..'.__...!_.._... ______




